- SECTIONB — (5 x 5 =25 ma_rks)'
Answer any FIVE questions in 200 words each.

21. Bring out T.S. Eliot's 1mpersona11ty theory of
: poetry. .

22. Write on the Christian faith expressed in the poem
‘The Wreck of the Deutschland’.

23. Bring out the theme of Sacrifice in Easter 1916:

24. Briefly analyse ‘Anthem for the Doomed Youth’ as
a war poem. ,

25. What is the role played by Alfred Doolittle?
26. Write a note on the Battle of the Cowshed. |
27. Narrate the events that led to Boxer’s death.
SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions in 300 words each.

28., What are Henry Jame’s v1ews on the Art of
Fiction?

29. Consider ‘The Unknown Citizen’ as a satire
against modern society’s methods.

30. How does ‘The Thought Fox’ explore and analyse
the writer’s struggle for inspiration?

31. Sketch the character of Colonel Pickering.

32. Write an essay on the use of symbols in
Animal Farm.
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SECTION A — (20 x 1 = 20 marks)

Answer ALL questions.

The First World War had a profound 1mpact on
society.

(a) American (b) British (c) Indian

The war resulted in the collapse of
party.
(a) Liberal (b) Labour (c) Democratic

Representation of the People Act passed in 1918
extended the franchise to — over the
age of 30. g

(a) men (b) labourers (c) women

The Labour Movements supported Churchill
during

(a) war (b) peace (c) conﬂ1cts

The labour movements grew out of the need to
protect the common interest of

(a) capitalists (b) rulers (c) workers

In Europe, the labour movements began during
the 5
(a) Industrial revolution (b) Agrarian revolution
(c¢) Fiench revolution




10.

11.

12.

The British Labour party was created by the
resolution passed by the

(@) Trade Union Congress (b) Trade Union
Organisatian (c) Trade Union Authority

In Welfare State, must take the
responsibility of the welfare of its citizen. -

(a) the Government (b) the King (c) the Parliament
headed by Atlee as Prime Minister

implements many recommendations of the welfare
state.

(a) The Conservative Government (b) The Socialist

‘Government (c) The Labour Government

Health service was a revolutionary idea of the

(@) Insurance company (b) Medical services
(c) Welfare state

.To know the tradition, according to T.S. Eliot the

poet must judge -

- what are the main
trends of the past. )

(a) fully (b) analytically (c) critically

T.S.: Eliot compares:; the poet’s mind to a
in which numberless-emotions and
feelings are stored.

(a) jar (b) cup (c) container
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13.

14.
.15.
16{.,
17.-
18.

19.

20.

A novelist must take his craft: —
(a) lightly (b) half heartedly (c) seriously

In Henry Jame’s opinion the novelist is
distinguished by his
(a) technique (b) art (c) discovery

G.M. Hopkin’s poem' is about the German

(a) shipwreck (b) boat tragedy (c) train tragedy

Wilfred Owen’s song mourns the death of the
: who died in an undignified manner.

(a) soldiers (b) poor (c) animals

The unknown citjzen is assessed by the Bureau of
statistics asa 3
(a) sinner (b) saint (c) problem-monger

Eliza Doolittle is a transformed
into a beautiful woman.

(a) little girl (b) naught girl (c) flower girl

Napoleon is a symbolic character of
(a) Stalin (b) Trotsky (c) Hitler

Old major asked the animals to sing the

(a) Song of revolution (b) Beast of England (c)
Song of Dawn 1
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